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Q.2: Graphing waves ily Ol>gell Juied Mark(s): 0/4

The figure shows two waves (A) and (B) propagating in the same medium. The
properties of each of them are written in the table shown below;

Which of the four possibilities in the table most accurately describes the properties
of each of the two waves (A) and (B)?

tobial il Jsusel! § Loga JS paibias A8 o5 dais Jasaol § 03223 (B) 5 (A) g JS001 0
5351 oy (B) o (A) crimoll 0 IS pailiade) 0985 Jguell § m¥ S Ll

5 1 5
b.
2 |
C.
|\ 3
d.




Q.3: Streamlines ;U 2l bgbs

The flow of fluids around objects is represented by
streamlines, as shown in the figure.

How can the flow be described in both regions A and B?

AT G imsh sa LS by bl alua¥l Jgo 2l Ll 3805 Jites oy

Learning Outcomes Covered

o PHY.6.1.02.021
o PHY.6.1.02.022

The flow in A is smooth (laminar), and
the flow in B is turbulent

ot B § olpalls gl A § ol

flow in B is smooth (laminar)

‘ The flow in A is turbulent, and the

The flow in both A and B is smooth
(laminar)

P! By A e 8 0l

The flow in both A and B is turbulent

whad By A e 8§ ol

Mark(s): 4/4



Q.4: Atmospheric pressure $g=Jl W2l ba.so Mark(s): 0/4

The Earth is surrounded by an envelope of gases called the
atmosphere, and this atmosphere exerts pressure on objects
on the Earth’s surface, known as atmospheric pressure.

How does atmospheric pressure change with increasing
altitude above sea level?

Gty SO 18 3505 « 3! COMANT (o I3 o 85LEy dolmd G R
sl oaall Joyad o8 plaw e 5352 sl alus¥l

Learning Outcomes Covered

o PHY.6.1.02.018

a.
It depends on temperatures §lpmdl Sl e el waay
b.
|‘ It remains constant Lyl A |‘
C.
Tt increases 3la3
d.
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Q.5: The Gas Laws jlsJl ;uilgs

when the pressure of a given quantity of a gas changes, the volume is inversely proportional to the changein

pressure.”” This can be formulated by (P,V, = P, V).

What is the name of the law that expresses this relationship?

Experiments conducted in the seventeenth century indicated that “at a constant temperature,

20 ke @)l Luwlii 12 (o o oS b sl boaie (@ &)l 623 3ic” o1 e gabad! 0pall § Syl W1 laeill sl
(PVy = P3V5) adslally olls dilue (Sasg " Jnall psi

SadMall s da (e sad g1 Hailall el Lo

|‘ Boyle’s law Jigs 0gil8 |‘
Charles’s law Jld Oeild
|‘ Ideal gas law JULI5L ogils |‘

Combined gas law Sl alall ogslall

Mark(s): 4/4



Q.6: Fluids at Rest and in Motion dSyaJlg ;gSuul (8 Jilgul Mark(s): 4/4

If someone studies fluids in motion,
What will be his field of study?

S, Al 32 obl e paeds ag 13]

Teiwlys Jlome 098w 13k

Learning Outcomes Covered

o PHY.6.1.02.021

Fluid Mechanics o ol Kl

=
E.
(=¥
=1
g

2.
2
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3
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|‘ Fluid Kinematics ol sl a8, iay

|‘ Fluid Statics EELY M PN




Q.7: Thermal Expansion - Convection currents )2l Joxdl Sl - b=l el Mark(s): 4/4

The figure shows the circulation of air in the room, which occurs as a result of a
property known as "'thermal expansion'', which results from the expansion of a fluid when
its temperature increases.

Which statements in the table are consistent with this property?

A o35 Lok I sues (e Rl "yl 22001 8 oS o L) Bmals ooims A1 188,801 § o g B9 JSET1 (il

Ayl

Tapolall o0 ao odleis Jouzll § lileall ‘éi

Learning Outcomes Covered

o PHY.6.2.02.001
o PHY.6.2.02.005

b,c,d
b.
I\ abd I\
a,b,c

|‘ a,c,d




Q.8: Wave Properties d>gall jailas

An experiment was conducted to find the speed of a sound wave in a medium, by sending
sound signals at different frequencies, and measuring the wavelengths (1) in meters for
each frequency. In a graph, the relationship between the wavelength and the reciprocal of

the frequency (%) was represented in milliseconds, and the best straight line was obtained
as shown in the figure.

‘What is the speed of sound in that medium?

A5 gs () gl JIalall ley Aalinh 7t igmo SHLA Sy Lo Jasng § Aiao Amgn i e 3L dayons oy

[ - | 1 LT A R {1\ =t [ L A | EO - et

1560 m/s |‘

|‘ 5100 m/s

|‘ 3450m/s

Mark(s): 0/4



Q.9: Pascal’s Principle JSuwl iaso

@ (7)?

If the ratio of the radius of the small piston (1) to the radius of the large piston (2) in

the water piston is (:—1 = %), as shown in the figure.
2

What is the ratio of the force on the small piston (1) to the force on the large piston

A=nmnr

F,

I

-RE

No

Mark(s): 0/4
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Q.10: PRESSURE OF FLUID ON A BODY puull (e giloll bius Mark(s): 4/4

The figure shows three containers (A, B, C), container (A) contains salt water, and the two
containers (B, C) contain pure water.

Which of the following relationships describes the pressure at the base of each of the three
containers?

Learning Outcomes Covered

o PHY.6.1.02.018
o PHY.6.1.02.019

|‘ PA=PB=PC

2
Vv
o
Vv
N

“ PA:PB>PC

|‘ PA>PB:PC




Q.11: Plasma Loj\I Mark(s): 4/4

A state of matter that is form at high temperatures, so
collisions between particles become violent enough to
tear the electrons off the atoms, thereby producing
positively charged ions and a negatively charged
electron cloud. Found in stars, lightning, and neon

signs, it can conduct an electric current. w HO AM Q
‘What state of matter is this? I &
o Slasbiaill meald adle 5l Sila g § G3SE Balll DY e Wla =

Gomhomdind € A Ciaa T i SENI e b TR b R L€ LT LA

a.
|‘ Solid Aliall |‘
b.
|‘ Gas sl |‘
i e
Plasma Lhd!
d.

|‘ Liquid Al |‘




Q.12: Calculating frequency >3l wlu> Mark(s): 4/4

What is the period of a wave with a frequency of (0.3 Hz)?

$(0.3 HZ) lassyi o gl Gaal el e

Whenever necessary, use the following physical formulas.

ALl agiljaddl duadl paiiwlbyygpa vl gla Lols
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Q.13: Bernoulli’s Principle (Jgiy (KN

Mark(s): 0/4
The figure shows a perfume atomizer, in which the
pressure bulb creates a jet of air carrying drops of
perfume. There are also similar technologies for moving
their fluids, such as paint sprayers, carburetors, etc.
‘What principle can be studied to analyze the functioning Squeeze -tk
of such devices? bl il
5y Byl e oL Ayobiedl il gaudl ol i) 80515 ilias cllia of LeS jlaall
w‘} ﬂm L'l‘-“ L«: 4-‘4 ‘J-‘ "-‘“J l% . f l‘_' :l wf i \‘J._ “ - AAD‘J‘: Perﬁlmeator'r‘izer
Learning Outcomes Covered : 7
o PHY.6.1.02.023
o PHY.6.1.02.024
o PHY.6.1.02.025
a.
|‘ Pythagorean principle st e
b.
|‘ Pascal's principle JEul s
C.
Bernoulli's principle Jsin e |‘
d.: :
Archimedes' principle ekl ks



Q.14: Periodic Motion 491 d&S)=JI Mark(s): 0/4

The figure shows a mass attached to a spring. If the _ e = =
. . . — = = =
mass is pulled down and released, it will bounce up = = = =
and down through the equilibrium position. = S = =
- s = =
Which of the following types of motion represents this = S = 6
situation? = <
5700 B o Jaal J) A Cuame citliy Rlath LK UK 25 "
I aga Jg> logaas I3 pao 6
SAasall sia Jied A0¥I 4S,=l £ gl g

Learning Outcomes Covered

o PHY.6.1.02.026

a.
|‘ Periodic motion 490 A4S |‘
b.
|‘ Simple harmonic motion Aoy 438l o348,
ol ;
: Linear Motion Alas 35, |‘ i
d.

Translational motion adlanl aS,s |‘




Q.15: Bernoulli Principle - Continuity Equation & )lyeilw)| dles - (Jgiy K

of variable cross-sectional area.

The figure shows a fluid with negligible viscosity flowing uniformly a horizontal tube

Based on the figure, which of the following statements is true?

Learning Outcomes Covered
o PHY.6.1.02.023
o PHY.6.1.02.024
o PHY.6.1.02.025
a.
|‘ P1<P2, A1<A2, v1>U2 |‘
b.
el
: |‘ P,>P, A, >4, v,>v,
d.

Mark(s): 0/4



